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(1) 5.98-3.79 (2) 4.71 - 2.69

D (1) 2.29 (2) 2.22 @ (1) 2.29 (2) 2.12
@ (1) 219 (2) 2.22 @ (1) 2.19 (2) 2.12
@) 219 (2) 202

(1) 5.98 - 3.79 = 2.19
(2) 4.71 - 2.69 = 2.02
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(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @) 5702 (2) 71
® (1) 5.702 (2) 7.01
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(1) 2.683 + 3.019 = 5.702

2.683
+ 3019
5.702

(2) 4.092 + 3.008 = 7.1

4.092
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(1) 418 -2.34  (2) 4.294 - 3.817

@ (1) 2.84 (2) 0.473 @ (1) 2.74 (2) 0.477
@) (1) 1.84 (2) 0477 @ (1) 1.74 (2) 0.473
® (1) 1.74 (2) 0.477

(1) 4.18-2.34 = 1.84
(2) 4.294 — 3.817 = 0.477
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(1) 4.7-0.27 (2) 6.05—0.96
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(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9
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9.768 + 1.74 = 11.508
7.92 + 3.89 = 11.81
wHehA] 9.768 + 1.74 < 7.92 + 3.89




